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SO ;}3L}, f(head == '\n'){

scanf( s, &(rects[num_rects].ul.x));

:“_ IH

scanf(" &(rects[num_rects].ul.y));
scanf( %f", &(rects[num_rects].lr.x));
scanf("%f", &(rects[num_rects].lr.y));
num_rects++;}

. oat X, Y. #include<math.h>
1t num po1nts = 0;

nt (scanf( " s, 8y)) 1 int check(int c[])
' ' e {int n,m;
(x 0 99?9 9f && y = 9999.9f){ for Cried:neZ:nid)

p01nt‘ b.‘ for' (m=n+1;m<8;m++) : 3 :
P.X = X; if (c[ml<llic[m]>8!Ic[n]==c[m]llabs(c[n]-c[m])=

P.Y = V; return(@);
num_points++; return(l);
}
num_cont = 0; main()
Lid C; {lnt qp[8]={837s63514’332s1}’*p; /*QDESJ'QZ—%’;{Q
) "((:=_0; c<num_rects; c++){ for (p=qp;apl[7]<9;qp[@]+=9)
‘ (contaln(p, rects(c]) {for (p=qp;p<&qp[7];)
num_cont++; | {if (*p>92)
printf("Point %d is contained in figure {*(p+1)+=1;
£y *p-=10;
(num_cont == 0){ D+
prlntf(””,;hL %l is not contained in any f5}
else
p+=8;
}

1f (check(ap))
{for (p=qp;p<=&qp[7];p++) printf ("%d",*p),;
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int C;

for(c=0;c<26;c++){
cclcl.c = c+'A';
cclcl.cn = 0;

while(scanf("%c",&a) !=EQF){
if(isalpha(a)){
a = toupper(a);
ccla="A'].cn++;

}

int e, f;
for(e=0;e<26;e++){
for(f=0;f<26-1; F++){
if(cc[fl.cn < cc[f+1].cn){

Node tmp = cc[f];
cc[f] = ccl[f+1];
cc[f+1] = tmp;

}
}

for(c=0;:;c<26;c++){
if(cclcl.cn!=0){
printf("%c %d\n",cclcl.c,cclcl.cn);
}

return 0;
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f(TakeshiIsCool){

doSomething
o
doSomething

f(TakeshiIsCool)
| doSomething

‘doSomething
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f(TakeshiIsCool)
actionl

.




AR oM A 4

int a,b,c,d e f,g;
char a_good_name;
int my_function(int arg, char arg2 );

const double PI = 3.1416;
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void mx(int n1[][21],int n2[] [21],int n){
int a,b;
for (a=0;a<21;a++)
for (b=0;b<21;b++){
if (a<n&&b<n)
nl[a) [b]l=rand()%99+1;
else
nl(a) [b]=100;
n2[a] [b]=0;}
}
int pt(int n1[][21],int n2[][21],int n,int costMatrix[] [20]){
int a,b,s,x,y;
for (a=0;a<20;a++)
for (b=0;b<2@;b++)
costMatrix([a) [b]=n1[a] [b];
for (a=0@;a<n;a++){
for (b=0;b<n;b++)
printf("%3d",nl1lal [b]);
putchar(*\n');}
for (a=@,s=nl(y=0] [x=0],n2([y] [x]=1;a<2%n-2;a++){
if (n1ly] [x+1)<=n1[y+1] [x])
X++;
else
y++;
s+=n1l[y] [x];
n2[y] [x]=1;}
return s;

}
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#include<stdio.
main(){
W a=10
a+=2;
w (c=0;c<? c++){
}

(test)
hahaha

@

yayaya
printf(30);

@) Use of undeclared identifier 'a’

@) Use of undeclared identifier 'c'

) Use of undeclared identifier 'test’
@) Use of undeclared identifier 'hahaha'
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